
Homework Questions

Exponential and Logarithmic Functions Part 1

10 PH IN CHEMISTRY

a. Find the pH of solution in which [𝐻+] ion concentration is 4 × 10−6 mol−1.

b. Find the hydrogen ion concentration corresponding to 𝑝𝐻 = 5.643.

c. Calculate the pH of 0.001𝑀 solution of acetic acid in which degree of dissociation is 25.

d. Find the 𝑝𝑂𝐻 of a solution having [𝐻+] ion concentration of 5 × 10−4.

e. A solution is 0.00025 M HCl. What is the pH AND pOH of this solution?

Make sure that you ask for help if you don’t understand completely! :)
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